6" Grade Math

Monday, April 6 — Lesson 2-1, Greatest Common Factor
Tuesday, April 7 — Lesson 2-2, Least Common Multiple

Wednesday, April 8 — Lesson 3-3, Comparing and Ordering
Rational Numbers

Thursday, April 9 — Lesson 4-1, Applying GCF and LCM to
Fraction Operations

Friday, April 10 — Lesson 4-2, Dividing Fractions
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Name Date Class

Greatest Common Factor

2-1
Reteach

The greatest common factor, or GCF, is the largest number that is the
factor of two or more numbers.

To find the GCF, first write the factors of each number.

Example
Find the GCF of 18 and 24.

Solution Write the factors of 18 and 24. Highlight the /argest number
that is common to both lists of factors.

Factors of 18: 1, 2, 3,6, 9, and 18
Factors of 24: 1,2, 3,4, 6, 8,12, and 24
The GCF of 18 and 24 is 6.

This process works the same way for more than two numbers.

Find the GCF.
1. 32 and 48 2. 18 and 36 3. 28, 56, and 84 4. 30,45, and 75

The distributive principle can be used with the GCF to rewrite a sum of
two or more numbers.

Example Solution
Write 30 + 70 as the product of the GCF Step 1 Find the GCF of 30 and 70.

of 30 and 70 and a sum.
Factors of 30: 1, 2, 3, 5, 6, 10, 15, and 30

Factors of 70: 1, 2, 5, 7, 10, 14, 35, and 70.
The GCF is 10.

Step 2 Write “10 x (? + ?).” To find the
questions marks, divide: 30 =10 = 3;
70+-10=7

Step 3 So, 30 + 70 can be written as
10x (3+7).

Rewrite each sum as a product of the GCF and a new sum.
5.9+15= 6. 100 + 350 = 7.12+18+21=

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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Name Date Class

Greatest Common Factor

2-1
Practice and Problem Solving: A/B

List the factors of each number.
1.5 2. 15 3. 60

4.6 5.12 6. 36

Find the greatest common factor (GCF) for each pair of numbers.
7. 6and 9 8. 4and 8 9. 8and 12

10. 6 and 15 11. 10 and 15 12. 9and 12

Write the sum of the numbers as the product of their GCF and
another sum.

13. 44 + 40 = 14. 15+ 81 =
15. 13+ 52 = 16. 64 + 28 =
Solve.

17. A jewelry maker will use 24 jade beads and 30 teak beads to make
necklaces. Each necklace will have the same numbers of jade beads
and teak beads. What is the greatest number of necklaces she can
make? How many beads of each type are on each necklace?

18. The marine-life store would like to set up fish tanks that contain equal
numbers of angel fish, swordtails, and guppies. What is the greatest
number of tanks that can be set up if the store has 12 angel fish,

24 swordtails, and 30 guppies?

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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2-1 Answer Sheet

Reteach
.16
.18
28
. 15
.3 x (3+5)
.50 x (2+7)
.3x(4+6+7)
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18.

Practice and Problem Solving: A/B

.1and 5

.1,3,5,and 15

.1,2,3,4,5,6,10, 12, 15, 20, 30, and 60
.1,2,3,and 6

.1,2,3,4,6,and 12

.1,2,3,4,6,9,12, 18, and 36

3

W 01w A N

.44 +40=4 x (11 +10)
.15+81=3x(5+27)
.13+52=13x(1+4)
.64+28=4x(16+7)
. Since 6 x (4 + 5) =24 + 30, she can make

6 necklaces with 4 jade beads and 5 teak
beads.

Since 6 x(2+4+5)=12+24 + 30,
6 tanks can be set up with 2 angel fish,
4 swordtails, and 5 guppies.
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Name Date Class

Least Common Multiple
Reteach

The smallest number that is a multiple of two or more numbers
is called the least common multiple (LCM) of those numbers.

To find the least common multiple of 3, 6, and 8, list the multiples
for each number and put a circle around the LCM in the three lists.

Multiples of 3: 3, 6, 9, 12, 15, 18, 21,
Multiples of 6:6, 12, 18,
Multiples of 8: 8, 16, 32,40, 48, 56
So 24 is the LCM of 3, 6, and 8.

List the multiples of each number to help you find the least common
multiple of each group.

1. 2and 9 2. 4and 6 3. 4and 10
Multiples of 2: Multiples of 4: Multiples of 4:
Multiples of 9: Multiples of 6: Multiples of 10:
LCM: LCM: LCM:

. 2,5 and 6 .3,4,and 9 . 8,10,and 12
Multiples of 2: Multiples of 3: Multiples of 8:
Multiples of 5: Multiples of 4: Multiples of 10:
Multiples of 6: Multiples of 9: Multiples of 12:
LCM: LCM: LCM:

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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Name Date Class

Least Common Multiple
Practice and Problem Solving: A/B

List the first three multiples of each number.
1.3 2.7 3. 12 4. 200

Find the least common multiple (LCM).

5. 2and 3 6. 4and 5 7. 6and7
2; 4: 6:
3: 5: 7:
8.2,3,and 4 9.5,6,and7 10. 8,9, and 10
2 5: 8:
3: 6: 9:
4: 7 10:
Solve.

11. Sixty people are invited to a party. There are 24 cups in a package
and 18 napkins in a package. What is the least number of packages
of cups and napkins that can be bought if each party guest gets one
cup and one napkin?

12. The science club sponsor is ordering caps and shirts for the boys and
girls in the science club. There are 45 science club members. If the
caps come in packages of 3 and the shirts come in packages of 5,
what is the least number of packages of caps and shirts that will need
to be ordered?

13. Some hot dogs come in packages of 8. Why would a baker of hot dog
buns package 7 hot dog buns to a package?

14. How are the GCF and the LCM alike and different?

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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2-2 Answer Sheet

Reteach
.2,4,6,8,10,12...18; 9, 18,
27,36 ...;18
.4,8,12...;6,12...; 12
.4,8,12, 16, 20...; 10, 20...; 20
.2,4,6...26, 28, 30...; 5, 10,
15, 20, 25, 30...; 6, 12, 18, 24,
30; 30
.3,6,9...33,36...; 4, 8, 12...28,
32, 36; 9, 18, 27, 36: 36

. 8,16, 24..112, 120; 10,
20...110, 120; 12, 24,
36...108, 120; 120

Practice and Problem Solving: A/B

N O O RAWN -

10.

11.

12.

13.

14,

.3,6,and 9

. 7,14, and 21

.12, 24, and 36

. 200, 400, and 600
.2,4,6,8,10,12...;3,6,9,12...; 6
.4,8,12,16, 20...; 5, 10, 15, 20...; 20
. 6,12, 18, 24, 30, 36, 42...; 7, 14, 21,

28,35,42...;42

.2,4,6,8,10,12..,;3,6,9,12...; 4, 8,

12...;12

. 5,10, 15..210; 6, 12, 18...210; 7, 14,

21...210; 210

8, 16...360; 9, 18...360; 10, 20...360;
360

Cups: 24, 48, 72; napkins: 18, 36, 54,
72;the LCMis 72, so 3 packages of
cups and 4 packages of napkins will be
needed.

Caps: 3, 6, 9...36, 39, 45; shirts: 5,
10...35, 40, 45; 15 packages of caps
will be needed and 9 packages of
shirts will be needed.

The LCM of 8 and 7 is 56, which is
greater than any other LCM of 8 and a
number less than 8. This insures that
the consumer will have to buy the
greatest number of packages of buns
in order to use up all 8 hot dogs.

The GCF and the LCM are alike,
because they are used to find common
divisors of two numbers. The GCF and
LCM are different in that the GCF is
found by looking at the factors of a
number, whereas the LCM is found by
looking at the multiples of a number.
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Name Date Class

Comparing and Ordering Rational Numbers
Practice and Problem Solving: A/B

Write each fraction as a decimal. Round to the nearest hundredth if necessary.

3 7 21 5
Write each decimal as a fraction or mixed number in simplest form.
5.055__ 6. 10.6 7.-7.08__

Write the numbers in order from least to greatest.

5 1
8.05,0.05, 2 9. 13, 13,134
10. 2.07, 2%, 2,67, -2.67

Solve.
11. Out of 45 times at bat, Raul got 19 hits. Find Raul's batting average as

a decimal rounded to the nearest thousandth.

12. Karen's batting average was 0.444. She was at bat 45 times. How

many hits did she get?

13. To have batting averages over 0.500, how may hits in 45 times at bat

would Raul and Karen need?

14. A car travels at 65 miles per hour. Going through construction, it

travels at % this speed. Write this fraction as a decimal and find the

speed.

15. A city’s sales tax is 0.07. Write this decimal as a fraction and tell how

many cents of tax are on each dollar.

16. A ream of paper contains 500 sheets of paper. Norm has 373 sheets
of paper left from a ream. Express the portion of a ream Norm has as a

fraction and as a decimal.

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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3-3 Answer Sheet

1.

Reteach

61
100

a2
100

9
' 1000
7

4L
10

5 1

1
10° 2
13

' 100
2 1

7.5——or
1000 500

21

8 ——
1000

Practice and Problem
Solving: A/B
.0.375
1.4
3
. 167
5. 11
20

6. 10§
5

X

25
8.0.05, 0.5, s
8

9.1.3, 11, 1.34
3

10.-2.67, 2.07, 2.67, 2%
11.0.422

12.20

13.23 or more

14.0.6, 39 mph

15. —7— 7 cents
100

16. i ; 0.746
500
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Name Date Class

Applying GCF and LCM to Fraction Operations

Practice and Problem Solving: A/B

Multiply. Use the greatest common factor to write each answer in
simplest form.

2 6 3 2 8 7
5 3 3
4.24-5 5.32-§ 6.21--7—
Add or subtract. Use the least common multiple as the denominator.
4 5 5 3 3 3
5 5 5 3 9 7
Solve.

13. Louis spent 12 hours last week practicing guitar. If % of the time

was spent practicing chords, how much time did Louis spend
practicing chords?

14. Angie and her friends ate % of a pizza. Her brother Joe ate % of what

was left. How much of the original pizza did Joe eat?

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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4-1 Answer Sheet

|~

N~ ©|N

N
an

Reteach

Practice and Problem Solving:
A/B

|¢_ N~ N[~

- N
N O i

©

Bl g

| Bl

10.

—
= N

11.

B

12.1—=
13.3h

14. % of a pizza
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Name Date Class

Dividing Fractions
Practice and Problem Solving: A/B

Find the reciprocal.

5 3 3
1. - 2. ) 3. 5
1 4 13
4. 10 5. 9 6. 1
7 3 5
7. 12 8. 10 9. 3
Divide. Write each answer in simplest form.
> 1 r.2 L |
10.§T2 11'8'3 12.10.4
3 . 6.6 5.3
13.279 14.9.7 15.6.10
5,3 5,3 21,7
16.674 17.8.5 18'32'8
Solve.

19. Mrs. Marks has % pound of cheese to use making sandwiches.

She uses about é pound of cheese on each sandwich. How many

sandwiches can she make with the cheese she has?

20. In England, mass is measured in units called stones. One pound

equals % of a stone. A cat weighs % stone. How many pounds does

the cat weigh?

21. Typographers measure font sizes in units called points. One point is

equal to 712— inch. Esmeralda is typing a research paper on her

computer. She wants the text on the title page to be % inch tall. What

font size should she use?

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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4-2 Answer Sheet

po

o

o

Reteach

1 3 3
4 17 %
1 4
277
32 6 3
81 8 4
14 4
33 9
2

5

1

4

5

16

1

4

Practice and
Problem Solving:
A/B

Wl wlA~ o~

10. 1=

11. 1—

12. 1=

Practice and
Problem Solving:
A/B (Continued)

13. —
14. Z
9
15. 2—
16. 1—
17. 1—

18. g
4




